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1. If a parent cell has 16 chromosomes and undergoes meiosis, the resulting cells will have how many chromosomes?

a. 64   b. 32   c. 16   d. 8   e. 4
2. The most accurate description of an organism with genotype AaBb is

a. homozygous dominant.   b. heterozygous.   c. heterozygous dominant.   d. homozygous recessive.   e. heterozygous recessive.
3. If R is dominant to r, the offspring of the cross of RR with rr will

a. be homozygous.   b. display the same phenotype as the RR parent.   c. display the same phenotype as the rr parent.   d. have the same genotype as the RR parent.   e. have the same genotype as the rr parent.
4. A testcross involves

a. two F1 hybrids.   b. an F1 hybrid and an F2 offspring.   c. two parental organisms.   d. an F1 hybrid and the homozygous dominant parent.   e. an F1 hybrid and an organism that is homozygous recessive for that trait.
5. In cocker spaniels, black coat color (B) is dominant over red (b), and solid color (S) is dominant over spotted (s). If a red male was crossed with a black female to produce a red spotted puppy, the genotypes of the parents (with male genotype first) would be

a. Bb Ss X Bb Ss.   b. bb Ss X Bb Ss.   c. bb ss X Bb Ss.   d. bb Ss X Bb ss.   e. Bb ss X Bb ss.
6. In cocker spaniels, black coat color (B) is dominant over red (b), and solid color (S) is dominant over spotted (s). If a red spotted male was crossed with a black solid female and all the offspring from several crosses expressed only the dominant traits, the genotype of the female would be

a. BB SS.   b. Bb SS.   c. Bb Ss.   d. BB Ss.   e. none of these
7. Susan, a mother with type B blood, has a child with type O blood. She claims that Craig, who has type A blood, is the father. He claims that he cannot possibly be the father. Further blood tests ordered by the judge reveal that Craig is AA. The judge rules that

a. Susan is right and Craig must pay child support.   b. Craig is right and doesn't have to pay child support.   c. Susan cannot be the real mother of the child; there must have been an error made at the hospital.   d. it is impossible to reach a decision based on the limited data available.   e. none of these
8. If a child belonged to blood type O, he or she could NOT have been produced by which set of parents?

a. Type A mother and type B father   b. Type A mother and type O father   c. Type AB mother and type O father   d. Type O mother and type O father   e. a and c could not, but both b and d could produce a type O child
9. If one parent has type A blood and the other parent has type B, then which of the following is possible in the children?

a. only AB   b. A and AB   c. B and AB   d. A, B, AB, O   e. only O

10. A person with Turner syndrome has the genotype:

a. XO   b. XY   c. XX   d. YO   e. XYY
